EARAROBREBRT —5 XN—ZXBISH—F

202310818 (B) 4ERR#9H

U SR2% S

(5] FStin

BRI

[AE%] 17%&:7,200,000 § ~ 237&:2,900,000 .~ 375:1,800,000 437%&:1,100,000 5 3&:720,000

B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N—_ = fIBEE= : -1-1- ZILERE (FBR)
118l g | AZXIWF 12 42 fle= 2.(0_2).1 1-1-1-1 [35.2| 75.5 | 3 (512) s
RFIWVFPAY BARHAITRTLR J=YUT7—L
My, = =_3) 2 | M. FL—0O 2:02.1 4-4-3-3 | 34.8| 76.1 | 2 510 | BRE (EXR)
215|5 [ HLFILIS—=Ta " 55.0” ) (-) |BRSHYILD
RiW—5—yvF B:AVFIVRU—) /=Y Tr—1I
> t 2 | BERR 2:02.5 8-8-8-6 |34.4| 72.0 | 4 1462 | ENIRE (R
3fpd 2|/ —FWAAA * 5.0 @ ) | BERETSTL Y s
RixAIAZI7—R B:ROY3avIT—)LR INVIT7—L
— s 2 | BEEK 2:02.5 4-4-5-5 [35.0( 71.9 | 1 500 | IS (FER)
4 4| TO—X 55.0 \F) (=) EITEBA%?
RIN=YITSA B:FhoIRTA(—Y #Rhat /—ReLX
S o~ 2 | KEFLH 2:02.7 3-3-3-3 [35.4] 69.0 | 7 | 474 |BBEERZ &R
sif 6| VTV 52.0 {1 1/8) ) R
Rib—trS5— B:HYITUvIFAX BRE|t VIV INL—
S~ )3 — 2 | SHER 2:03.3 6-6-6-6 |35.4| 63.7 | 5 466 | EREHEE (RF)
6177 BY/I—2= A520 G 1/2) (—) | AEEL
RPN/ TSIV BTrvd—IY ML R
< " BRES : -2-2- atEas (EXR
7189 | ZILINT—=) 2R 2'?53'2 FEE2 720503 6 (31(; r;mf's\@( )
RVILN=RAT—b BINAFTAFZvT e
S s 2 | EEEC 2:04.4 7-6-6-6 | 36.5| 48.0 | 8 43) | EEE—ER (58)
EH 3 D9YFA 55.0 (1 1/4) () |EBHEXER
Ry RI7IVIR 8:7Y13 BEERBUS
< JURAS :07. -9-9- . . BERE (FER)
91101 | NFrhUTY 2 IS (2(}(7;) 9-9-9-9 |37.5] 22.7 | 9 :154; o
RiIVYRIZIVIR B:RTU—UFEa1— i e
[ BN
Eh' 47.3-35.2
NOVIA L | 12.7-11.4-12.8-13.1-12.4-12.4-12.1-11.5-11.6-12.1
@ 11— —BBIEfI
13—7— 8-9-6(5,4)-7,3-2-1
20—F— 8,9-6(5,4) (3,7)-2,1
BEI=r= (+8,9)-(5,6)4-(3,7)-2=1
40— — (+8,9)-(5,6)4-(3,7,2)=1
o ILRE
B B 8 410M4 JA R 5-8 260M4 & 5-8 5904 3EE 2-5-8 1,430
g B 8 170 2-8 410/ 5 & 5-8 590M 3EH 8-5-2 7,020
5 190F4 2-5 4504 =51 8-5 1,230
2 230

ABIC OV TRUTEREERRODDZE. THRIIZEL.




